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AO0mk T fiil 9.9 9.6 8.2 6.8 5.5 4.1
o sh gl 7.3 7.1 6.1 5.1 4.0 3.0
1kmaid TEEfiff 10.4 10.1 8.7 7.4 6.0 1.6
A 2 il 7.5 7.3 6.3 5.3 4.3 3.3
lkmbl P 10.9 10.7 9.3 7.9 6.5 5.1
i g fi 7.8 7.6 6.6 5.6 4.6 3.5




i TOOmAziE | B00mEi | 900m=F | 1kmsEl | 1kmbl
By {600m) (700m) {R00m) {900m) {1km)
100mi TEED T -6.5 -7.7 -9.0 -0, 4 -.9
i s il -1.9 -5.8 6.8 -7.0 -7.2
200mAi FEEIIL -6.3 -7.5 -8.8 -0.2 -0.6
o fi -4.7 5.7 6.6 -6.8 -7.1
300matil L -5.1 -6.3 -7.6 -8.0 -8.5
i 1 fif] -3.8 -1.8 =5.7 =5.9 =, 2
A00m E i -3.8 ~5.1 -6.4 -6.9 -7.3
s i -2.9 -3.8 -4.8 =5.0 -5.3
S00mkil TEHIN -2.6 -3.9 -5.2 ~5.7 -6.1
o3 s fifi -1.9 -2.9 -3.9 -4, 1 -4.4
G00m il TR -1.3 -2.6 ~3.9 -1,4 =49
o il -1.0 -2.0 -2.9 -1.2 -3.4
TOOmASE FEEN 0.0 -1.3 -2.7 -3.1 -3.6
o 2 fif 0.0 -1.0 -2.0 -2.2 -2.5
B00m i S E 1.4 0.0 ~1.4 -1.8 -2.3
e g fif 1.0 0.0 -1.0 -1.2 -1.5
S00m A LR 2.7 1.4 0.0 -0.5 -1.0
e e fif 2.0 1.0 0.0 ~.3 (.5
1 kmail HERi 3.2 1.9 0.5 0.0 -0.5
o i 2.3 1.3 0.3 0.0 -0.3
1kmbl - HEF i 1.7 2.4 1.0 0.5 0.0
rf i 2.5 1.5 0.5 0.3 0.0

YAE (%)

T Rl
100m & Y=2 Y=1.76
100mEL_E~1kma&jl Y=1/100)X+3  Y=(-0.88/100)X+2.64

| TkmEh b Y=-T7 Y=-6.16
21
RN
O 100 300 1000 x 1N A PEA~ DR (m)
-5
..................... 1 o fi
-7
K1 3




FOhERE |100m|200m| 400m |600m|800m| lkm 1km
FRil | R | R | RS | KW | Rl | DLk
EHEEHR (80m) |(100m)| (300m) |(500m) [ (700m)|(900m)| (1km)
100ma=3 | FEHE 0.0 |-0.2 | -2.2 |-4.1 |-6.1 |-8.0 |-9.0
cp . {i 0.0 |-02 | -1.9 |-36 |-54 |-7.1 |-7.9
100mEAE| EHEE | 02 | 00 | -20 |[-3.9 |-59 |-7.8 |-8.8
200maii | oS 0.2 |00 |-1.7 |-35 |-52 |-69 [-7.8
200mEL B | ESE 2.2 | 2.0 0.0 -2.0 |-4.0 | -6.0 |-7.0
100msEi | oS 1.9 1.8 0.0 |-1.8 |-3.5 |-5.3 |-6.2
400mLl k| TEHE 4.3 | 4.1 2.0 0.0 |-2.0 [-4.1 |-5.1
600mai | Rl 3.8 | 3.6 1.8 0.0 |-1.8 |-3.6 |-4.5
600mEL k| FEHHE 6.5 | 6.3 4.2 2.1 0.0 |-2.1 |-3.1
800mi | P ILfi 57 | 5.5 3.6 1.8 | 0.0 |-1.8 |-2.7
800mEA k| EHME 8.7 | 8.5 6.4 4.3 2.1 0.0 |-1.1
Ikmaili | chofii | 76 | 7.4 5.8 3.7 1.9 | 00 |-09
IkmPA E | 9 9.9 | 9.7 7.5 54 | 3.2 1.1 | 0.0
o i 8.6 | 8.4 6.6 47 |28 |09 |00
20
Yo R (%)
i 1 sy
100 A5 Y=3.08 Y =3.06
] 100mEL E~3km#  Y=(-0.62/100)%+6.2  Y=(=0.34/100)X+3.4
5 3kmLl E ¥=-12.4 Y =—.8
% : $% Fr~ D EERE (m)
o 100m - ! i 3km
(e ket
- 10
T E (i
- 15




ZOMER (100m|500m| 1km [1.5km| 2km 3km 3km
i | R | K | R | KRG | R | LLE
F AR (80m) [(300m) [(800m)| (1km) |(1.5km) | (2.5km) | (3km)
100m i T 0.0 |-1.3 |-54 |-54 | -8.3 |-14.2 |-17.1
mgE | 0.0 [-07 |-3.0 [-3.0 | -4.7 | -8.0 |-9.6
100m&L T 1.3 |00 |-42 [-42 | -7.1 |-13.1 |-16.0
500mAiH o e fi 07 |00 |-23 |-23 | -4.0 | -7.3 |-9.0
500mLL E P H 56 | 4.2 |00 |-0.1 | -3.2 | -9.4 |[-12.5
1km#iif r g {ff 3.1 23 |00 |-0.1 | -1.8 | -5.2 |-6.9
1kmEL E I 57 | 43 |00 | 00 | -3.1 -9.3 [-12.4
1.5kma&is | ol 3.1 24 |01 |00 |-1.7 | -5.1 |-68
1.5kmELE | FEHE | 9.1 77 | 3.2 | 3.2 0.0 -6.4 |-96
2kmA i Rl | 4.9 4.2 1.8 1.7 0.0 -3.5 |[-5.2
2kmLL_k EHE | 165 | 150 [ 103 | 103 | 6.8 0.0 |-34
SkmiH o i 87 |79 | 54 | 54 3.6 0.0 |-1.8
3kmLA R | 207 | 191 | 14.2 | 14.2 | 10.6 3.5 0.0
ch i 10.7 | 9.8 7.4 7.3 5.5 1.8 0.0
10
) — o ufi
.-J"f
5 ,—f"f
s
0 100% EGM% 100%  500%  600% x: AR
-3 7
SR b ]
200% Y=-2.74 Y=-2.44
200% L4 E~600%3Ri Y=(2.74/100)X-8.22 Y=(2.44/100)X-7.32
600%LA_E Y=8.22 Y=7.32




FOMERE | 200% 200%| 300% | 400% | 500% | 600%

H ik LI E Lk Lk Lk Ll E

I T RE (100%) | (200%) | (300%) | (400%) | (500%) | (600%)
200%ATH | TEHE 0.0 2.9 5.8 8.7 11.6 14.5
ch g f 0.0 2.6 5.1 7.7 10.3 12.8
200%LL k| ESE -2.8 0.0 2.8 5.6 8.5 11.3
300%k%7 | oK -2.5 0.0 2.5 5.0 7.5 10.0
300%LL k| FEEHE ~5.5 -2.7 0.0 2.7 5.5 8.2
400%47 | PofiE -4.9 -2.4 0.0 2.4 4.9 7.3
400%LL E | FE -8.0 -5.3 | -2.7 0.0 2.7 5.3
500%FKH | PRE -7.1 -4.8 | -2.4 0.0 2.4 4.8
500% k| TERE ~10.4 -7.8 | -5.2 | -2.6 0.0 2.6
600%RT | PRE -9.3 7.0 | -4.7 | -2.3 0.0 2.3
600%2L k| TR -12.7 | -10.1 | -7.6 | -5.1 -2.5 0.0
Sl -11.4 -9.1 -6.8 | -4.5 | -2.3 0.0




B 10

10
10 73
Y AR ZEE (%)
ErfE
10
5
0 2 r X:MEE (m)
/
/
-5 I i
;.-’ 2m =i Y=-11.45 Y=-8.91
2mll E~5maEjl  Y=3.83X-19.15 Y=2.97X-14.85
;; SmEl E~20m=Kl Y=1.24X-6.2 Y=Xx-5
20mLl k Y=18.6 Y=15
10]




ZOMERE | 2mAE | 3mEl | AmEiE | SmAE | 6mEiE | SmiH
FEAN {1.8m) (2m) (3m) (4m) (5m) (Tm)
2main | FEEE 0.0 0.9 5.2 9.6 14.0 16.8

ch gl 0.0 0.7 3.9 7.2 10.5 12.7
Im AT LR -0.9 0.0 4.3 8.7 13.0 15.8

of 2 {f -0.7 0.0 3.3 6.5 9.8 12.0
Am A R -5.0 -4.1 0.0 4.1 8.3 11.0

gLl -3.8 -3.2 0.0 3.2 6.3 8.4
SmA EEME -8.8 -8.0 -4.0 0.0 4.0 6.6

o (i -6.7 -6.1 -3.1 0.0 3.1 5.1
Gm i SEEE -12.3 -11.5 -7.7 -3.8 0.0 2.5

AL -9.5 -8.9 -5.9 -3.0 0.0 2.0
8m A Y -14.4 -13.6 -9.9 -6.2 -2.4 0.0

Ll -11.3 -10.7 -7.8 -4.9 -2.0 0.0
10m#A || FEHiE -16.4 | -15.7 -12.0 -8.4 -4.7 -2.4

oh g fi -13.0 -12.4 -9.6 -6.7 -3.8 -1.9
12maiE || R -18.3 -17.6 -14.1 -10.5 -6.9 -4.6

i L -14.6 -14.1 ~11.3 -8.5 ~5.7 -3.8
16maAdE || o -21.1 -20.4 -16.9 -13.5 -10.0 -7.8

oh o filf -17.0 | -16.4 -13.7 -11.0 -8.3 -6.4
20maTE | FEHIE -24.4 | -23.8 -20.5 -17.2 -13.9 ~11.7

e il -19.9 ~19.4 -16.8 -14.1 -11.5 -9.7
20mel k| FEIEE -26.0 -25.4 -22.1 -18.9 -15.7 -13.6

oh g {iff -21.3 -20.8 -18.2 -15.6 -13.0 -11.3
w 10m 34 | 12m3R{8 | 16m3&{E | 20mKHE | 20mLL Lk
B (9m) (11m) {14m) (18m) (20m)
2m He i il 19.6 22.4 26.7 32.3 35.2

ot fif 14.9 17.1 20.4 24.9 27.1
ImFiE SEHA 18.6 21.4 25.6 31.2 34.0

H il 14.2 16.4 19.7 24.1 26.2
dmAis SR 13.7 16.4 20).4 25.8 28.4

o il 10.6 12.7 15.9 20.1 22.3
SmA ) {E 9.1 11.7 15.6 20.7 23.3

e o filf 7.2 9.2 12.3 16.5 18.5
Bmis SEHE 5.0 7.4 11.2 16.1 18.6

e i 4.0 6.0 9.0 13.0 15.0
Bm A= JEEE 2.4 1.8 8.5 13.3 15.7

i 2.0 3.9 6.9 10.8 12.7
10mRiG | FEE 0.0 2.4 5.9 10.6 13.0

cf {0 0.0 1.9 1.8 8.7 10.6
12maiE | i -2.3 0.0 3.5 8.1 10.4

of g {E -1.9 0.0 2.8 6.6 8.5
16mseiG | FEHE -5.6 -3.3 0.0 4.5 6.7

e Sl -4.6 -2.8 0.0 3.7 5.5
20mziE || FHE -9.6 -7.5 -4.3 0.0 2.1

o il -8.0 -6.2 -3.5 0.0 1.8
20mEl k| TERME -11.5 -9.4 -6.3 -2.1 0.0

g il -9.6 -7.8 -5.2 -1.7 0.0

10 56 1




YR 2= (%)

] o H gl

15 100m #i& Y=12.11 Y=8.82
100mEL_E~800m3E  Y=(-1.73/100)X+13.84 Y=(-1.26/100)X+10.08
800mLL E~1km=&H  Y=(-0.89/1000X+7.12 Y=(-0.5/100)X+4
1km L E Y=-1.78 Y=-1

10

5

0l 100 auE | X EREERE (m)

1000 EHiE

-5
1 100m  800m

2.20  100m 800m 1km 1.08  100m 1.29

100m 0.50 100m



FOMER | 100mAl | 200m:3i | 300mazil | 400m3$5 | 500mEl | 800m3il
B (R0m) {100m) {200m) {300m) {400m) {(500m)
100maAsl | FHI 0.0 -0.3 -1.8 ~3.4 -4,9 -6.5

th g fiff 0.0 -0.2 -1.4 ~2.5 -3.7 -4.9
200m=l | EE 0.3 0.0 ~1.5 -3.1 -4.6 -6.2

o b iy 0.2 0.0 -1.2 -2.3 -3.5 ~-4.6
300ma | R 1.9 1.6 0.0 -1.6 -1.1 -4.7

o (il 1.4 1.2 0.0 -1.2 -2.3 -3.5
400mFE b il 3.5 3.2 1.6 0.0 ~1.6 -3.2

o s i 2.6 2.4 1.2 0.0 -1.2 -2.4
S00mi T HfiL 5.2 4.9 3.2 1.6 0.0 -1.6

o sh il 3.8 3.6 2.4 1.2 0.0 -1,2
GO0mAN | T 6.9 6.6 4.9 3.3 1.6 0.0

o g (i 5.1 1.9 3.6 2.4 1.2 0.0
TO0m A i 8.7 8.4 6.7 5.0 3.3 1.7

o oh i 6.4 6.1 4.0 1.7 2.5 1.2
BOOm:Aill | T 10.5 10.2 8.5 6.8 5.1 3.4

o af fiff 7.7 7.5 6.2 5.0 3.7 2.3
S00mHE Rl 12.5 12.1 10.4 8.7 5.9 5.2

o g {5y 9.1 8.8 7.6 6.3 5.0 3.8
1kmil EEMI 13.5 13.1 11.4 9.6 79 6.1

o i il O.6 9.4 H.1 6.0 5.6 4.3
1kmbl |k P 14.5 14.1 12.4 10.6 8.9 7.1

o fiif 10.2 9.9 8.6 7.4 6.1 4.8
W 700m#il | B00m:ERY | 900mskill | 1kma#ili | 1kmil
TR {E00m) 700m) (BO0m) {900m) {1 km)
100ma | M 8.0 -8.5 -11.1 -11.9 -12.7

i g fill 6.0 -7.2 -8.3 -8.8 -9.2
200m 3 2 T -7.7 -8.3 -10.8 -11.6 -12.4

1 1 fiil 5.8 =59 8.1 -8.6 -9.0
A00mAzid EE -6.3 -7.8 -0.4 =-10.2 =11.0

of s i -4,7 5.9 -7.0 -7.5 -8.0
A00mAil S Efi -4.8 -6.4 -8.0 -8.8 -9.6

eh g2 i -3.6 -4.7 -5.9 -6.4 -6.9
s500mai | FEE -3.2 -1.9 -6.5 -7.3 8.1

ot i -2.4 -3.6 -4.8 -5.3 -5.8
G00m:El | I -1.6 -3.3 -4,9 -5.8 -6.6

o il -1.2 -2.4 -3.6 -4.1 -4,6
TOOm:&H | T 0.0 -1.7 -3.3 -4.2 -5.1

e s il 0.0 -1,2 -2.5 -2.9 -3.4
BO0mA=il EHRE 1.7 0.0 =1.7 =26 =3.5

ef o fo 1.2 0.0 -1.2 -1.7 -2.2
GO0m A S 3.5 1.7 0.0 -0.9 -1.8

tf Ha i 2.5 1.3 0.0 -0.5 =1.0
1 kma#zil EH i 4.4 2.6 0.9 0.0 -0.9

a1 3.0 1.8 0.5 0.0 -0.5
1kmbl k SR 5.3 3.6 1.8 0.9 0.0

ofs s fii 3.6 2.3 1.0 0.5 0.0

10 28




Y= (%)

A e il
100m 1t Y=2.4 Y=1.72
100mLL_E~1km3RjH Y=(-1.2/100)X+3.6 Y=(-0.86/100)X+2.58
1kmpl Y=-8.4 Y=-6.02

X N A A~OERE(m)

-5
-7 h gefiE
EHEfE

FOMERE [100m|200m[400m|{600m|800m| lkm | lkm

Al | KI5 | RiG | K | RS | Kl | Bk

FEHE (80m) |(100m) | (300m) | (500m) | (T00m) |(900m) | (1km)

100madi | FEH{E 0.0 |[-02 |-26 |-49 [-72 |-9.6 |[-10.8
cp S {E 0.0 |-02 [-19 |-35 |-52 |-6.9 |-7.8

100mEL | F=89{E 0.2 0.0 |-23 |-47 |[-7.0 |-9.4 [-10.5
200maEiH | PR{E 0.2 00 |-1.7 |-34 |-5.1 |-6.8 |-7.6
200mEl k| EEE 26 |24 |00 |-24 |-48 |-72 |-84
400mRi | PE 1.9 | 1.7 | 0.0 |-1.7 |-34 |-52 |-6.0
400mPl k| EHE 52 | 49 |25 |00 |-25 |-49 |-6.1
600miG | PHR{E | 3.7 | 3.5 1.8 | 0.0 |-1.8 |-35 |-44
600mEL k| TEHY(HE 7.8 | 7.6 50 | 25 |00 |-25 |-3.8
800mkls | RE 5.5 | 5.3 3.6 | 1.8 | 0.0 |[-1.8 |-2.7
800mPl k| FHyE | 106 103 | 78 | 52 |26 | 00 |-1.3
lkms&d | HR{E 74 | 7.3 54 | 36 | 1.8 | 00 |-09
lkmPlE | EH9E [ 12.1 [11.8 | 92 | 6.6 | 3.9 1.3 | 0.0
g fiE 8.4 8.2 6.4 4.6 2.7 0.9 0.0

10

19



Yl 2R (2%)

T Hild o i
100mFH Y'=5.93 Y=4.5
- 100m L4 b ~3km 32l Y=(-0.77/1000%+7.7 YW={-0.5/100)X+5
Akm L E Y=-15.4 Y=-10

x {2 E~ R (m)

100m 3[-_;
-5
- 10' ..........
gl
15
HE il
1 1.21 100m

0.52 100m

FOMERE [100m[500m|{1km |1.5km| 2km 3km 3km
Fi | R | RiG | R | RE | K | BLE
FEEHTRE (80m) |(300m)[(800m}| (1km) | (1.5km) | (2.5km) | (3km)
100mk i R3] 0.0 |[-16 |-6.6 |-6.6 |-10.2 |-17.4 | -21.0
cf Jfiff 0.0 |-1.1 |-43 |-44 | -6.8 |-11.6 | -14.0
100mL E TEE)E 1.6 | 00 |-51 |[-5.1 | -8.8 |-16.1 | -19.7
500m i gLl 1.1 0.0 [-3.3 |-3.4 | -58 |-10.6 | -13.0
500mLL E TEEE 6.9 5.2 0.0 [-0.2 | -4.0 |-11.7 | -15.5
1km i S 4.5 3.4 0.0 |-0.1 | -2.6 -7.6 | -10.1
lkmLEL E EEIE 7.1 5.4 0.0 0.0 -3.8 | =116 | -15.4
1.5km#& o e fiff 46 | 3.5 | 0.1 0.0 | -25 | -7.5 | -10.0
1.5kmPlE | FEEE [ 114 | 96 | 4.0 | 4.0 0.0 -8.0 | -12.0
2km il gL 7.3 | 6.2 | 2.7 | 26 0.0 -5.1 | -7.7
2kmbl L ERE | 211 | 192 131 |13.1 8.7 0.0 -4.4
SkmE{H pdufif | 13.1 | 11.9 | 8.2 8.1 5.4 0.0 -2.7

3kmEl E EEE 26.6 | 246 | 18.2 | 18.2 13.7 4.6 0.0
ofr g {ii 16.2 | 150 | 11.2 |11.1 8.3 2.8 0.0




10

28

YA (%)
SEHE
10
A ———— ':Pf'k‘.'{ﬁ
5 yd
.-*'ff
pd
0 100% 400%  500%  600% x: 25 FHER()
T o il
200 i Y=-4.02 Y=-2.39
200%~600%FKM  Y=04.02/1000%-12.06  Y=(2.39/1000X-7.17
BOO%LL Y=12.06 Y=7.17
FOMER | 200% | 300% | 400% | 500% | 600% | 600%
Foim | R | KRG | KRG | G | ML
EEHE R (100%) | (200%) | (300%) | (400%) | (500%) | (600%)
200% 1 SERE 0.0 4.4 8.7 13.1 17.5 | 21.9
o S 0.0 2.5 5.0 7.5 10.0 | 12.5
200%L4 _E SEE{E -4.2 0.0 4.2 8.4 12.6 16.8
300% i oh i -2.4 0.0 2.4 4.9 7.3 9.8
300%L4 EEE -8.0 -4.0 0.0 4.0 8.0 12.1
400%F1 g -4.8 -2.4 0.0 2.4 4.8 7.2
400%L4 EHE | -116 | -7.7 | -3.9 0.0 3.9 7.7
500%#TE b g -7.0 4.7 -2.3 0.0 2.3 4.7
500%L4 EYE | -149 | -11.2 | -7.4 -3.7 0.0 3.7
BO0%FTE FR -9.1 -6.8 -4.6 -2.3 1 0.0 2.3
600%LL 1= TEME | -17.9 | -14.3 | -10.8 | =7.2 | -3.6 0.0
g | -11.2 | -8.9 -6.7 -4.5 |-2.2 0.0




10

10 5m 82 2
10 5m 84
YRR (%)
e
............................ EF st
10|
5
0 X: 088 (m)
5|
SEFE b3 (i)
2m i Y=-13.2 Y=-11.25
2mLl _E~5mAiH Y=4 4X-22 Y¥=3.75X~18B.7H
SmEl E~20m=Kf Y=0.86X-4.3 Y=0.8X-4
L 20mLl E Y=12.9 Y=12
-10
-15
2 5m 4.94



FOMERE | 2mEi | 3mEM | 4msi | SmElE | 6mEE | 8SmEE
FEER (1.8m) (2m) (3m) (4m) (5m) (Tm)
2mAi S E i 0.0 1.0 6.1 11.3 16.4 18.4

o i 0.0 0.9 5.1 9.4 13.6 15.5
ImEil FEEE -1.0 0.0 5.1 10.1 15.2 17.2

o il -0.8 0.0 4.2 8.5 12.7 14.5
dm AT FE i -5.8 -4.8 0.0 4.8 9.6 11.5

o S -4.9 -4.1 0.0 4.1 8.1 9.8
e EEE -10.1 -9.2 -4.6 0.0 4.6 6.4

o g i -8.6 -7.8 -3.9 0.0 3.9 5.6
6m AT ErR -14.1 -13.2 -8.8 -4.4 0.0 1.7

g -12.0 -11.3 -7.5 -3.8 0.0 1.6
Sm#zil Rl -15.5 -14.7 -10.3 -6.0 -1.7 0.0

o g i -13.4 -12.6 -0.0 -5.3 -1.6 0.0
10mi | FEHE -16.9 -16.1 -11.8 -7.6 -3.3 -1.7

th g i -14.7 -14.0 -10.4 -6.7 -3.1 -1.6
12maig | FE{ -18.3 -17.5 -13.3 -G.1 -4.9 -3.3

A ] -16.0 -15.3 -11.7 -8.2 -4.6 -3.1
16mafil; | Rl -20.3 -19.4 -15.4 -11.3 -7.2 -5.6

e i -17.9 -17.2 -13.7 -10.2 -6.7 -5.2
20mei | ERE -22.7 -21.9 -18.0 -14.0 | -10.1 -8.5

e o {iff -20.3 -19.6 -16.2 ~12.8 -9.4 -8.0
20mpl k| FEEE -23.9 -23.1 -19.2 -15.3 -11.4 -9.9

o g i -21.4 -20.8 -17.4 -14.1 -10.7 -9.43
w 10meRiE | 12maRi | 16meRiS | 20mz## | 20mLl Lk
i (9m) (11m) (14m) (18m) (20m)
2mATE TEri 20.4 22.4 25.4 29,4 31.4

o gL 17.3 19.1 21.8 25.5 27.3
Im AT MEED L 19.2 21.2 24.1 28.1 30.1

o1 g fif 16.3 18.1 20.8 24.4 26.2
4m i SEF i 13.4 15.3 18.1 21.9 23.8

o 11.6 13.3 15.9 19.4 21.1
SmAHE EHE 8.2 10.0 12.7 16.3 18.1

g il 7.2 8.9 11.4 14.7 16.4
6m A Rl 3.4 5.2 7.7 11.2 12.9

o G 3.2 1.8 7.2 10.4 12.0
SmiY R 1.7 3.4 5.9 9.3 11.0

o g 1.6 1.1 5.5 8.7 10.2
10maRiE | FEHH 0.0 1.7 4.2 7.5 9.1

o 2 {ii 0.0 1.6 3.9 7.0 8.5
12l EEE -1.6 0.0 2.5 5.7 7.4

o il -1.5 0.0 2.3 5.3 6.9
16m#iE | FEE -4.0) -2.4 0.0 3.2 4.8

il -3.7 -2.2 0.0 3.0 4.5
20msEiE || JEEN -7.0 -5.4 -3.1 0.0 1.5

o s (i -6.5 -5.1 -2.9 0.0 1.4
20mil k| EHE -8.4 -6.9 -1.6 -1.5 0.0

o g i -7.9 -6.4 -4.3 -1.4 0.0

10 800m 53 3




10 800m 54 2

Y #EERR (%)

FiE R
10 0m ik Y=17.5 Y=14.91
50 100mEA_E~800mAiiE  Y=(-2.5/100)X+20 Y=(-2.13/100)X+17.0
800mEl E~1kmaA#  Y=(-0.74/100)X+5.92  Y=(-0.42/100)X+3.36
Lkm EA L Y=-1.48 Y=-0.84

01 100 500 800 “'“! o S | X:EREEHE (m)
T
1000
-5
100m 800m 3.31
100m 800m 1km 1.21 100m 2.15 100m

0.44 100m



W 100m:AH | 200m:H | 300m:Rl | 400m#i | 500mki | 600mkil
BT (80m) {100m) {200m) (300m) {400m) {500m)
100m:AsR | Tl 0.0 -0.4 -2.5 -4.7 -6.8 -8,9

o 2 i 0.0 -0.4 -2.2 -4.1 -5.9 -7.8
200mAil T Ei 0.4 0.0 =21 -1.3 6.4 -8.5

o il 0.4 0.0 -1.9 -3.7 =5.6 =7.4
300mA T 2.6 2.2 0.0 -2.3 -4.3 -5.5

th i 2.3 1.9 0.0 -1.9 -1.8 -5.7
400ma=il | Pl 4.9 4.4 2.2 0.0 -2,2 -4,4

o 2 i 4,2 3.8 1.9 0.0 =1.9 =38
500masil | TR 7.3 6.8 1.5 2.3 0.0 -2.3

L fiff 6.3 5.9 3.9 2.0 0.0 -2.0
BO0mziE PRI 9.5 9.3 7.0 4.7 3 0.0

o o i 8.4 8.0 6.0 4.0 2.0 0.0
TOOmA T EiL 12.4 11.9 9.5 7.1 4.8 2.4

o g fiif 10.6 10.2 8.2 6.1 1.1 2,0
BOOm:RM i 15.1 14.6 12.2 9.8 7.3 4.9

tp s i 12.9 12.5 10.4 B.3 6.3 4,2
go0makis | TR 18.0 17.5 15.0 12.5 10.0 7.5

o g fiff 15.3 14.9 12.8 10.7 8.5 6.4
1 kmaAi HEHMi 18.9 153.4 15.9 13.3 10.8 8.3

s fif 15.8 15.4 15.3 1.1 9.0 6.8
1kmEL T Ea it 19.8 19.3 16.7 14.2 11.7 .1

g fif 16.3 15.9 13.7 11.6 9.4 7.3
W 700mAH | 800m:Ai | 900m#il | 1kmsfili [1kmbl
FIEHTRE {600m) (T00m) (800m} (900m) {1 km)
100m A2 HEEiL -11.0 -13.1 -15.3 -15.9 =16.5

o s i =96 ~11.5 -13.3 -13.7 -14.0
200mAi M =10.6 -12.8 ~14.9 -15.5 -16.2

i -9.3 -11.] -13.0 -13.3 -13.7
300mAE SEEiT -8.7 -10.9 -13.0 -13.7 ~-14.3

i e fiit -7.6 5,4 -11.3 -11.7 -12.1
A00ml | EH -6.7 -8.9 =11.1 -11.8 -12.4

o 2 i -5.8 -7.7 -9 -10.0 -10.4
500maRi | T -4.5 6.8 -9.1 -0.8 -10.4

i g fii -3.9 -5.9 -7.9 -§.2 -8.6
BOOm:KR | TFEE =23 -4.7 -7.0 -7.7 -8.4

o g i -2.0 -4.0) 6.0 —6.4 -5.8
TOOm Az FEEi 0.0 -2.4 -4.8 -5.5 -6.2

op s {if 0.0 -2.0 -4.1 -4.5 -4.9
B00maAi | EMI 2.4 0.0 -2.4 -3.2 -3.9

gL fiff 2.1 0.0 =2.1 =2.5 -2.9
S00maASil | FEMI 5.0 2.5 0.0 0.7 -1.5

i1 g fiit 4.3 2.1 0.0 -0.4 -0.8
1km#ii FH i 5.8 1.3 0.7 0.0 -0.7

i 4.7 2.6 0.4 0.0 -0.4
1kmkid PO 6.6 4.0 1.5 0.8 0.0

g fiif 5.1 3.0 0.8 0.4 0.0

10 16




Y& 2EHR(%)

100m i
1kmll E

Ml
Y=3.14

¥=-10.99

100m &L _E~ 1km>&i Y=(-1.57/100)X+4.71

5l
Y=2

Y=-T7

Y=(~1/100)X+3

-10

FEE

X 1S AEEA~D PEEE (m)

FOMEFRE [100m|200m{400m|{600m|{800m| 1km | lkm

il | ki | ARG | kil | R | Rl | LE

FEHE (80m) | (100m) | (300m) | (500m) | (T00m) | (900m) | (1km)
100m#eis | F{E 0.0 |-0.3 |-33 |-6.4 |-94 |-12.4 |-14.0
i 0.0 -0.2 -2.2 -4.1 -6.1 -8.0 -9.0

100mPL k| FHE 0.3 | 0.0 |-3.0 |-6.1 [-9.1 [-12.2 [-13.7
200maeil | A 0.2 |00 |-20 |-39 |-59 |-7.8 |-8.8
200mpPL k| FEEMH 3.5 | 3.1 0.0 |-3.1 |-6.3 |-9.4 |-11.0
400m7ATH | PR 2.2 2.0 0.0 |-2.0 |-4.0 |-6.0 |-7.0
400mEL E | FERE 6.8 6.5 3.2 0.0 |[-3.2 |-6.5 |-8.1
600maASHE | Pl | 43 | 41 | 2.0 | 00 |-2.0 |-4.1 |-5.1
600mLL k| FEfE | 104 | 10.1 | 6.7 | 3.4 | 0.0 |-3.4 |-5.0
800m#AL]H | O 6.5 |63 | 42 |21 |00 |-2.1 |-3.1
8o0mEA k| Tl 142 | 139 (104 | 69 | 3.5 | 00 |-1.7
IkmEqs | PR 8.7 85 |64 | 43 | 2.1 0.0 |-1.1
lkmEl E | EH{E | 16.2 | 159 |12.3 | 88 | 5.3 1.8 | 0.0
o gl 9.9 | 9.7 75 | 54 | 3.2 1.1 0.0

10

15



Yohg 2R (%)

T o afil
10 0m 453 Y=7.74 ¥=4.68
I 100m L E~3kmAil Y=(-086/100)+8.6  Y=(-0.52/100)X+5.2
3kmid Y=-17.2 Y=-10.4
5l
% fRPT~ o (m)
O 100m - | | | 3km
-5
- 10}
g
- 15
3T
= 20
FOMETEE |100m|300m| 1km |1.5km| 2km 3km 3km
S | AR | RiG | R | R | R | Lk
FEATE (80m) [(300m)|(800m)| (1km) | (1.5km) | (2.5km) | (3km)
100m4E | FH{E 0.0 |-1.8 |-7.3 |-7.3 |-11.3 |-19.3 [-23.3
oyl 0.0 |-1.1 |-45 |-46 | -7.0 |-12.0 |-14.5
100mEA E | FE{E 1.8 | 0.0 |-57 |-57 | -9.7 |-17.8 |-21.9
500m3R{iE o i 1.1 0.0 -3.4 | -3.5 | -6.0 |-11.0 |-13.5
500mEL k| FEEH{E 7.7 | 58 | 00 |-02 | -4.5 |-13.0 |-17.3
1km 7 i o S 4.7 3.5 0.0 |-0.1 | -2.7 | -7.9 |-10.5
lkmL b SEEE 7.9 6.0 0.0 0.0 -4.3 | -12.9 |-17.2
1.5km#iE | PoE 4.8 | 3.6 0.1 0.0 | -2.6 | -7.8 |-10.4
1.5kmEA | FE9{E | 12.8 | 108 | 4.5 | 4.5 0.0 -9.0 |[-13.5
2km ki S 2B 3 ] 7.6 6.4 2.8 2.7 0.0 -5.3 | =8.0
2kmLl _k EEME 1239 | 21.7 | 148 | 14.8 9.9 0.0 -4.9
Skm R i fgufE [ 13.6 | 124 | 8.6 | 8.5 5.6 0.0 |-2.8
3kmlA k. EHgfE | 30.3 [28.0 | 208 |208 | 15.6 5.2 0.0
gl | 16.9 | 157 | 11.7 | 116 | 8.7 2.9 0.0




10 65

YRR (%)
M
10 i
5
0 100%  200% #00%  400%  500%  600% x 2R (%)
-3 4
___________________________________________________________ %
i
EHE o il
200% A=t Y=-3.87 Y=-3.33
200% L) _F ~600%1 Y=3.87/100X-11.61 Y=3.33/100X-9.99
600% L4 E Y=11.61 Y=9.99

ZOMERE | 200% | 300% | 400% | 500% | 600% | 600%
kg | K | KW | R | K | LLE
FEHRE (100%) | (200%) | (300%) | (400%) | (500%) | (600%)
200%3ki | EH{E 0.0 4.2 8.4 12.6 16.8 | 21.0
P R{E 0.0 3.6 7.1 10.7 14.3 17.8
200%8L b | EH{E -4.0 0.0 4.0 8.1 12.1 16.1
300%A4E | PRE -3.4 0.0 3.4 6.9 10.3 13.8
300%LL E | EHE -7.7 | -3.9 0.0 | 3.9 7.7 11.6
400%K5 | PRE -6.7 | -3.3 0.0 3.3 6.7 10.0
400%A | FHE | -11.2 | -75 | -3.7 0.0 3.7 7.5
500%A0 | HPofE -97 | -6.4 | -3.2 0.0 3.2 6.4
500%2L k| EHE  [-144 | -108 | -7.2 | -3.6 0.0 3.6
BOO%ATH | HefE |-125 | -9.4 | -6.2 | -3.1 0.0 3.1
6O0%LL | EHE | -17.3 |-13.9 |-104 | -6.9 | -3.5 0.0
pdfl | -15.1 |-12.1 | -9.1 | -6.1 | -3.0 0.0




YR EEE (%)

5m 70
5m 69

FHE

P RIE

0.94

2m He il

2mel _E~5m 3
SmEl _E~ 16m A5

16mEL

10/

5m

15/16

FE)E
Y=-13.62
=1.54X~22.7
Y=1.07X-5.35
Y=11.77

200 X:HEE (m)

P R{E
Y=-9.99
Y=3.33X~16.65
Y=0.94X~4.7
Y=10.34

2.28



w 2mERil | 3mEH | AmE | SmAER | 6mAET
+ EHTE (1.8m) (2m) (3m) {4m) (5m)
2mAii PRI 0.0 1.1 6.4 11.7 17.0
oh1 o 0.0 0.7 4.5 8.2 11.9
ImFiE MEES -1.1 0.0 2.3 10.5 15.8
o b fiff -0.7 0.0 3.7 7.4 11.1
A JEH it -6.0 -5.0 0.0 5.0 10.0
o o -4.3 -3.6 0.0 3.6 7.1
SmA JEE ~10.5 -9.5 -4.8 0.0 4.8
g fil -7.6 -6.9 -3.4 0.0 3.4
Bm A T -14.5 ~13.6 -9.1 -4.5 0.0
e g {il -10.7 -10.0 -6.7 -3.3 0.0
SmFiH SEFE -16.3 ~15.4 -11.0 -6.5 -2.1
i g -12.3 -11.7 -8.4 -5.1 -1.8
10m i ELE -18.0 -17.2 -12.8 -8.5 ~4.1
ch g i -13.9 -13.3 -10.0 -6.8 -3.6
12m 3 i R -19.7 -18.8 -14.6 -10.3 -6.0
e g il -15.4 -14.8 -11.6 -8.5 -5.3
16 34 it A -22.0 -21.2 -17.1 -12.9 -8.8
g i -17.6 -17.0 -13.9 -10.9 -7.8
16mbl EHE ~23.5 -22.7 ~18.7 -14.6 -10.5
o g {iif -19.0 -18.4 -15.4 -12.4 -9.4
w SmaETE | 10m3E{E | 12m3i | 16m3#ii | 16mil k
FEHEE (Tm) (9m) (11m) (14m) (16m)
2mFii EHE 19.5 22.0 24.5 28.3 30.8
g {il 14.0 16.1 18.2 21.4 23.5
3mAL |G Y 18.2 20.7 23.2 26.9 29.4
of i 13.2 15.3 17.4 20.5 22.6
Am#iE A 12.3 14.7 17.0 20.6 22.9
m g filf 9.1 11.2 13.2 16.2 18.2
Sm A 2 E 7.0 9.2 11.5 14.8 17.1
oh s 5.4 7.3 9.3 12.2 14.1
6m i R 2.1 4.3 6.4 9.6 11.8
ot g 1.9 3.8 5.6 8.5 10.3
Bm AT SEEIE 0.0 2.1 4.2 7.3 9.4
ohr o {iif 0.0 1.8 3.7 6.5 8.3
10m i EHM -2.1 0.0 2.1 5.1 7.2
o i -1.8 0.0 1.8 4.5 6.3
12m i i -4.0 -2.0 0.0 3.0 5.0
i g i -3.6 -1.8 0.0 2.7 4.4
16miis TR i -6.8 -4.9 -2.9 0.0 2.0
e ] -6.1 -4.3 -2.6 0.0 1.7
16mEl b | FHE -8.6 -6.7 -4.8 -1 0.0
oL -7.7 -6.0 -4.3 -1.7 0.0




48

Y G TEER (%)
_ EEHE g {E
10 20 0m i Y=6.9 Y=5.16
200mLL_ E~800mASiE Y=(-1.15/100)X+9.2 Y=(-0.86/100)X+6.88
800m Ll E~2kma#ili  Y=(-0.38/100)X+3.04 Y=(-0.25/100)X+2
2kmL) Y=—-4.56 Y=-3
5 .
“
\'H
H\..H
b
|
O 200 50
-5
FOMER | 200m38 | 400mE | 600mA | B00mA | 1kemail | 1.2kmsil
MG {100m) (200m) {400m) (B00m) {R00m) (1. 1km)
200m il TEHi 0.0 -1.1 -3.2 -5.3 ~7.5 -8.2
o gl fif 0.0 -0,8 -2.4 -4.1 -5.7 6.1
400mEil SEE 1.1 0.0 -2.2 -4.3 -6.5 -7.2
o it 0.8 0.0 ~1.6 -3.3 ~4,9 -5.4
GO0 m A5 Bl 3.3 2,2 0.0 -2.2 -4,4 =5.1
rf 2 i 2.5 .7 0.0 -1.7 -1.3 -1.8
B00mAzl T Eil 5.6 4.5 2,2 0.0 -2,2 -3.0
ofa i 1.2 3.4 1.7 0.0 -1.7 -2.2
1 lemas il S Ht 8.1 6.9 4.6 2.3 0.0 -0.8
o iy 6.0 5.2 3.4 1.7 0.0 -0.5
1 2kmail P 8.9 7.7 5.4 3.1 0.8 0.0
i e 6,6 5.7 1.0 2.2 0.5 0.0
L akm#is il 9.7 8.5 6.2 3.9 1.5 0.8
th e il 7.1 6.2 1.5 2.7 1.0 0.5
|.BkmaAil S E T 10.6 9.4 7.0 4.7 2.3 1.6
i i 7.6 6.8 5.0 2.3 1.5 1.0
1.Bkma#zili T it 11.4 10,3 7.8 5.5 3.1 2.4
o il 8.2 7.3 5.6 3.8 2.0 1.5
2kmail Tt 12.3 11.1 8.7 6.3 4.0 3.2
il 8.7 7.9 6.1 4.3 2.6 2.1
2kmBl k STy 13.2 12.0 9.6 7.2 1.8 4.0
o dafi 9.3 8.4 6.6 4.9 3.1 2.6




W LabkmaBi | 1L6km3i | 1.8kmaid | 2kmail | 2kmbl -
R {1.3km) (1.5km) (1.7km) (1.9km) (2km)
200mEis Bt -8.9 -9, =10.3 -11.0 =11.7
i e i 6.6 -7.1 -7.6 -8.0 8.5
400m:kil | EE -7.9 8.6 -9.3 -10.0 -10.7
o il -5.9 -6.3 -6.8 -7.3 i
GOOm:AY | TEEE -5.9 -6.6 -7.3 -8.0 -8.8
o ey -4.3 -4.8 -5.3 -5.7 -G,2
800mily | L -3.7 -1.5 -5.2 6.0 -6.7
o3 i -2.7 ~3.2 -3.7 =4,1 =16
1 lemsde il IR -1.5 -2.3 =3.0 -3.8 -4.6
o g i ~1.0 -1.5 -2.0 -2.5 3.0
L2kmaAil || FET -0.8 -1.5 -2.3 -3.1 -3.8
o i -0.5 ~1.0 -1.5 -2.0 -2.5
l.dkmail HEEp i 0.0 -0.8 -1.5 -2.3 -3.1
i1 g i 0.0 -0.5 -1.0 -1.5 -2.0
L.Gkmaeil P 0.8 0.0 -0.8 -1.6 -2.3
i it 0.5 0.0 (.5 ~1.0 -1.5
L8kmadsili | JEEH4E 1.6 0.8 0.0 0.8 -1.6
i i 1.0 0.5 0.0 -0.5 -1.0
2kmaAi T E i 2.4 1.6 0.8 0.0 -0.8
i 1.5 1.0 0.5 0.0 -0.5
2kmEl b T 3.2 2.4 1.6 0.8 0.0
o il 2.1 1.5 1.0 0.5 0.0
32
Y2 (%)

191 o o fl
100m i Y=1.84 Y=1.6
100mEl E~1km Y=(-0.92/100)X+2.76  Y=(-0.8/100)X+2.4
lkmEL E Y=-6.44 Y=-5.6

2 ...... o -\.\_Iw
0 100 300\500 1km X 17\ AfE A~ DFERE (m)

L\'.




ZOMER 1100m|200m| 400m [600m[800m| lkm | lkm
FeiE | RiE | KW | KW | KW | RiE | Bk
EEEE (80m) | (100m)| (300m) |(500m)|(T00m)|(900m)| (lkm)
100mETE | T 0.0 |-02 | -2.0 |-38 |-56 |-7T4 | -8.3
th o 0.0 |-0.2 | -1.T |-33 |-49 |-6.4 | -7.2
100mEL & | A 0.2 |00 | -1.8 |-36 |-54 |-7.2 | -8.1
200maRf | POl 0.2 |00 | -1.6 |-31 |-47 |-63 | -T.1
200mLl L EM{E 2.0 1.8 0.0 -1.8 | -3.7 |-5.5 | -6.4
400mRT | PRE 1.8 1.6 0.0 |-1.6 |-3.2 |-48 | -5.6
400mel kB | FEEE 3.9 3.7 1.9 0.0 |-1.9 |-3.7 | -4.7
600m | FPoE 3.4 3.3 1.6 0.0 |[-1.6 |-3.3 | -4.1
600mEL L | FEE 59 | 5.7 3.8 1.9 | 0.0 |-1.9 | -2.9
800mTH | PHRE 5.1 5.0 3.3 1.7 | 0.0 |-1.7 | -2.5
800mLL k| FEME 8.0 | 7.8 5.8 3.9 1.9 | 0.0 | -1.0
Lkm# i o i 6.9 6.7 5.0 3.4 1.7 0.0 | -0.8
lkmEl E EEE 9.0 8.8 6.9 4.9 2.9 1.0 0.0
oh R {E 7.8 | 7.6 5.9 42 |25 |08 0.0

33
YAG IR (%)
I o e fif
100m A< Y¥=3.15 Y=2.7
5 100m EL b ~ 3k #5538 ¥=(-0.35,1000%+3.5 Y=(=0.3/100)K+3
kmLl E Y= Y=-6

! : % AT~ OFEEE (m)

Jkm

| i

T il

=10




FOMMER [100m|500m| 1km |{1.5km| 2km 3km 3km

Feiw | Rl | Rk | A | R | & | Bk
Eobfiogid (80m) [(300m}| (800m) | (1km) | (1.5km) | (2.5km) | (3km)
100mscig | TEHfil 0.0 [-07 | -24 |-3.1 | -4.8 | -8.2 -9.9
ch g fig 0.0 |-06 | -2.1 |-2.7 | -4.1 -7.1 -8.5

100mEL k| TEHHE 0.8 | 00 | -1.7 |-24 | -41 | =75 | -9.2
500mii o S { 0.6 0.0 -1.5 | -2.1 | -3.5 -6.5 ~7.9
500mEl k| EXME 2.5 1.7 0.0 |-0.7 | -2.4 -5.9 ~7.6
1 kmsii o o {jff 2.1 1.5 0.0 |-06 | -2.1 | -5.1 6.6
lkmEl b E 3.2 2.5 0.7 [ 00 | -1.8 -5.3 ~7.0
L.okmai | oL 2.8 2.1 0.6 0.0 -1.5 -4.5 -6.0
1.5kmEL b | EEE 5.1 4.3 2.5 1.8 0.0 -3.6 -5.3
2kmAi A g filf 4.3 3.7 2.1 1.5 0.0 -3.0 | -4.6
2kmEL E T | 8.9 | 8.1 6.3 5.5 3.7 0.0 -1.8
3km il mafE | 76 | 6.9 5.3 1.7 3.1 0.0 1.6
3kmEl R iE 11.0 | 10.2 83 | 7.5 5.6 1.9 0.0
o S 9.3 8.6 7.0 6.4 4.8 1.6 0.0




Y EF (%)

........................ o
5

X EHE(%)
o H 1 1 1 i
— 100% 200% 300%  400% 500% 600%

FHiE o o fiE
50% 3 Y=-1.06 Y=-0.86
50%LL E~600% Y=2.12/100X-2.12 Y=1.71/100X-1.71
600%LA 1 Y=10.6 Y=8.55
FOMERE | 50% 100% | 200% | 400% | 600% | 600%
il | RS AW | KW | K | LAE
FEERE (40% | (50%) | (100%) | (200%) | (400%) | (BOO%)
50% i EHE 0.0 0.2 1.3 3.4 7.7 12.0
thr g {f 0.0 0.2 1.0 2.8 6.2 9.7
50% L4 | T E -0.2 0.0 1.1 3.2 7.5 11.8
100%1i5 o g {E -0.2 0.0 0.9 2.6 6.0 9.5
100%L4 - EEE -1.3 -1.1 0.0 2.1 6.4 10.6
200%:A i ofr g -1.0 | -0.9 0.0 1.7 5.1 8.6
200%L4 T E -3.3 | -3.1 -2.1 0.0 4.2 8.3
300%0G | hafE -2.7 | 2.5 | -1.7 0.0 3.4 6.7
400%LL _k SEEE =7.2 -7.0 -6.0 -4.0 0.0 4.0
600% 3 i o gL fiE -5.9 | -5.7 | -49 | -3.3 0.0 3.3
600%L4 _E SEEE -10.7 | -10.5 | -9.6 -1.7 -3.8 0.0
ef o {fff -8.8 | -87 | -79 | -6.3 | -3.2 0.0

B 10



10 74

Y (%)
— EHE

P RAE
10

o

5 X: &8 & (m)
ErfE i
2m it Y=-12.42 Y=-8.7
2mLl E~5maE Y=4.14X-20.7 Y=2.9%-14.5
Sml b~ 16ma#H  Y=1.1X-5.5 Y=0.92X-4.6
16mLl = Y=12.1 Y=10.12
-15



w OomAE | 3mFEE | AmEH | S5mE | emEi
FEHR (1.8m) (2m) (3m) (4m) (5m)
2m i R i 0.0 1.0 5.7 10.5 15.3
o 0.0 0.6 3.8 7.0 10.2
Im RS R -0.9 0.0 4.7 9.5 14.2
A -0.6 0.0 3.2 6.4 9.5
Am i il -5.4 -4.5 0.0 4.5 9.0
o i -3.7 -3.1 0.0 3.1 6.2
Sm AT SEEME -9.5 -8.6 -4.3 0.0 4.3
T il -6.6 -6.0 -3.0 0.0 3.0
6m i YL -13.2 -12.4 -8.3 -4.1 0.0
o g i -9.3 -8.7 -5.8 -2.9 0.0
8m A= T -15.1 -14.3 -10.3 -6.2 -2.2
e g il -10.9 -10.3 -7.5 -4.7 -1.8
10m =i il -16.9 -16.1 -12.1 -8.2 -4.2
il -12.5 -11.9 -9.1 -6.3 -3.5
12mai ali -18.6 -17.8 -14.0 -10.1 -6.2
il -14.0 -13.5 -10.7 -8.0 ~5.2
16m ki i -21.1 -20.3 -16.5 -12.8 -9.0
o - {i -16.2 -15.7 -13.0 -10.3 -7.6
16mLl S -22.6 -21.9 -18.2 -14.5 -10.8
S -17.6 -17.1 -14.5 -11.8 -9.2
ZOMMEE | 8maARE | 1OmsRE | 12m37 | 16m3Ri | 16mbl Lk
FEER (Tm) (9m) (11m) (14m) (16m)
2m il T 17.8 20.3 22.9 26.7 29.2
th gafiEf 12.3 14.3 16.3 19,4 21.4
Im A JERIE 16.7 19.2 21.7 25.5 28.0
oh 11.5 13.6 15.6 18.6 20.6
Am A R 11.4 13.8 16.2 19.8 292.2
o i 8.1 10.1 12.0 14.9 16.9
Sm A R 6.6 8.9 11.2 14.6 16.9
o i 4.9 6.8 8.7 11.5 13.4
NEST FEEHE 2.2 4.4 6.6 9.9 12.1
i) 1.8 3.7 5.5 8.3 10.1
Sm Al JEE 0.0 2.2 4.3 7.5 9.7
o i 0.0 1.8 3.6 6.3 8.1
10m&3 || R -2.1 0.0 2.1 5.3 7.4
A -1.8 0.0 1.8 4.4 6.2
12maRig | FHE -4.1 -2.1 0.0 3.1 5.2
o g i -3.5 -1.7 0.0 2.6 4.4
16m 1l SEEHE -7.0 -5.0 -3.0 0.0 2.0
FR {0 -5.9 -4.2 -2.5 0.0 1.7
16mLl E | ERE -8.8 -6.9 -4.9 -2.0 0.0
bl -7.5 -5.8 -4.2 -1.7 0.0
10 800m 58 1
10 800m 59




YAEEHR (%)
EHE o
] 200m i =6.42 Y=6
10 200mEL_E~B00m=Rji# Y=(-1.07/100)X+8.56 Y=(~1/100)X+8
800mLL E~2km3= Y=(-0.56/1000X+4 .48 Y=(-0.42/100)X+3.36
2kmEL Y=-6.7T2 Y=-0.04
LL‘ £
5 AN
X:EREEEE (m)
| 1 i
Ol 200 500 800 ‘Teag.. 2000
— ey PRIE
-5
TEEHE
800m 1.55
100m 1.00 100m
FO TR | 200mEE | A00mHAE | 600mARE | BOOmATHE | 1kmaAzil | 1 2kmaid
LR £100m) {200m) {400m) (GO0 (R00m) 1. 1km)
200maAi P 0.0 -1.0 -1.0 -5.0 -7.0 -8.0
opr g2 {fi 0.0 -{1.9 -2.8 -4.7 -6.5 -7.3
A00mskETE FEE 1.0 0.0 -2.0 =4.0 -0 =71
o s il 0.9 0.0 -1.9 -3.H -5.7 -6.5
BO0mY FE i 3.1 2.1 0.0 -2.1 -4.1 -5.2
o oo fiif 2.4 1.9 0.0 -1.9 -3.8 -4.7
BOOmAil FEi 5.2 1.2 21 0.0 -2.1 -3.2
e g fiff 4.9 3.0 2.0 0.0 =20 =28
Ikl R 7.5 6.4 4.3 2.1 0.0 -1.1
1 e i 7.0 6.0 4.0 9.0 0.0 -0.8
L 2km Al Frai 8.7 7.6 3.5 3.3 1.1 0.0
g 7.9 6.9 1.9 2.9 0.8 0.0
|k masi R 10.0 5.9 6.7 4.5 2.3 1.1
e il 5.4 7.8 5.8 .7 1.7 0.9
LGkmsis P 11.2 10.1 7.9 5.7 4.5 2.3
i 2 i 9.8 8.7 6.7 4.6 2.6 1.7
LBkmazis FE 12.5 11.4 9.2 5.9 4.7 1.3
oz il 10.7 9.7 76 5.5 1.5 2.6
2km T 13,9 12,7 0.5 8.2 5.9 1.7
v g2 i 1.7 106 R.6 6.5 4.4 15
2kmil |- FHl 15.2 14.1 1.8 9.5 7.2 £.0
o S {iil 12.7 11.6 9.4 7.4 5.3 4.1




FofiFEs | kel | Lekmoleil | LBkemcatild | 2kookili [ 2kmBl E
E Wiy i {1.3km) (1.5km) (1.7km) (1. 9km) ([2km)
200makil EHi -49.1 -10,1 ~11.1 -12.2 -13.2
o 2 il -8.1 -8.9 -9.7 ~10.5 ~11.3
400mAsil FEEi -5.1 -9.2 -10.2 -11.3 =123
e g ff -7.2 -5.0 -B.8 -0.6 -10.4
GOOmAi HEEiY ~6.3 -7.3 -8.4 -0.5 -10.5
o 4 fiff -5.5 -6.3 -7.1 -7.9 -8.7
BO0mAs SEHiT -4.3 -5.4 -6.5 -7.6 -8.7
g 1 -31.6 -1.4 -5.3 6.1 -(.9
Thm i SR i =22 -3.4 -1.5 =3.6 -6.7
o} g i =17 -2.5 -3.4 -4.2 ~5.0
L.2kma=s EE -1.1 -2.3 -3.4 -4.5 -5.7
H ki -0.8 -1.7 -2.3 =34 -4.2
Latkmskid Rl 0.0 -1.1 -2.3 -3.4 -4.6
e 4 i 0.0 -0.9 -1.7 -2.6 -3.4
1.6kmazili R 1.2 0.0 -1.2 -2.3 -3.5
rf e g 0.9 0.0 -(1.9 -1.7 -2.6
1. 8km:Ai FEI 2.3 1.2 0.0 -1.2 -2.3
£ sh iy 1.7 0.9 0.0 -(.9 -1.7
Dk il SEE 2.6 2.4 1.2 0.0 -1.2
o 1 i 2.6 1.8 0.9 0.0 -0.9
2kmbd b R i 4.8 16 2.4 [.2 0.0
o 4 fiff 35 2.7 1.8 0.9 0.0
10 36
YAEZER(%)
FEEE o g
100m A Y=2.38 Y=1.64
100m Ak~ 1km&H Y=(-1.19/100)X+3.57 Y=(-0.82/100)X+2.46
1kmL) Y=-8.33 Y=-5.74
X AN A~ O PEE (m)




ZOMER [100m|200m| 400m |600m{800m| lkm | lkm
A | RE | RIS | R | R | Rl | Lk
FE B (80m) {(100m)| (300m) {(500m) | (700m)|(B00m)| (1km)
100mE§E | F3E 0.0 |-0.2 | -26 |-49 |[-7.2 |-9.5 |-10.7
eh (i 0.0 |-0.2 | -1.8 |-34 [-50 |-6.6 | -7.4
100mEL E | SEHE 0.2 |00 | -23 |-46 [-70 |-93 |-105
200maAeiE | PO 0.2 |00 | -16 |-32 |-48 |-6.5 | -7.3
200mEL k| ER{H 2.6 | 2.4 0.0 |-24 |-48 |-7.1 | -8.3
400m3RfE | Po{H 1.8 | 1.6 0.0 |-1.6 |-3.3 |-49 | -5.7
400mEL Lk | TEI{E 5.1 | 4.9 2.4 0.0 |-2.4 |-49 | -6.1
BOOmZR{E | Al 3.5 | 3.3 1.7 0.0 |-1.7 |-3.3 | -4.2
600mLl k| EH{H 7.7 | 7.5 5.0 2.5 0.0 |-2.5 | -3.7
800mRim | 5.3 | 5.1 3.4 1.7 [ 0.0 |-1.7 | -2.5
800mLL L | EEg{E | 105 | 103 | 7.7 5.1 26 | 00 | -1.3
Lkm## i Hh il 7.1 | 6.9 5.2 3.4 1.7 | 0.0 | -0.9
1kmPL _k SESE | 119 | 11.7 | 9.1 6.5 3.9 1.3 0.0
chdf | 8.0 | 7.8 6.1 43 | 26 | 0.9 0.0
10 24
Yibg 2 4R (%)
i it
100m 458 Y=4.86 Y=3.96
100m kL b~ 3kmEl Y=(-054/1000%+5.4  Y=(-0.44/100)%+4.4
5 3kmLl b Y=-10.8 Y=-8.8

i~ R (m)

HEI'Dm

=10

! 3km

i

RSl




FOMER [100m|500m| lkm 1.5km| Zkm Jkm Jkm
i | Rl | R | R | R | R | Bk
F R (80m) [(300m)| (800m) | (1km) | (1.5km) | (2.5km) | (3km)
100m#i Ery il 0.0 |-1.1 | -4.7 |[-47 | -7.3 |-12.4 |-15.0
o g file 00 |-09 | -3.8 [-39 | -6.0 |-10.2 |-12.3
100mEL _E Eri 1.1 0.0 -3.6. | -3.6 | -6.2 |-11.4 |-14.0
500mA i e N 0.9 | 0.0 | -29 |-30 | -5.1 -9.4 | -11.5
500mEL SEFI{I 4.9 3.7 0.0 -0.1 -2.8 -8.2 | -10.9
Lkm i 1 gL {f 4.0 | 3.0 0.0 |-0.1 | -23 | -6.7 | -8.9
lkmEA E ERE 5.0 3.8 0.0 0.0 -2.7 | -8.1 |[-10.8
1.5km i o1 g2 4.0 | 3.1 0.1 0.0 | -2.2 | -6.6 | -8.8
1.5kmEA E | FEE9{E 7.9 | 6.7 2.8 2.8 0.0 -5.5 | -8.3
2km#iH g fi 6.4 | 5.4 2.3 2.2 0.0 -4.5 | -6.7
2kmLl E EH{E 14.2 | 12.9 | 8.8 8.8 5.9 0.0 -2.9
km# T (i 1.4 | 104 7.2 7.1 4.7 0.0 -2.4
3kml _E EENE 17.7 | 16.3 | 12.1 12.1 9.1 3.0 0.0
o 14.1 | 13.0 | 9.7 9.6 7.2 2.4 0.0
10 23 2
YAEET(%)
10
5

P :
< 100% 200%

HO% i

300%

HO%LL =~ 600% i

600%LEL |

400%  500%  600%
ERE HA L
Y=-1.5 =1

X : (%)

Y=(3/100)X-3 Y=(2/100)X-2

Y=15

Y=10



2 4.54
100 2.00 100
TOMER | 50% 100% | 200% | 400% | 600% | 600%
EEHERE (40%) | (50%) | (100%) | (200%) | (400%) | (600%)
50%A{H FEHE 0.0 0.3 1.8 4.9 11.0 17.1
ch e {E 0.0 0.2 1.2 3.2 7.3 11.3
50%L4 FrfE -0.3 0.0 1.5 4.6 10.7 16.8
100%0 | ol -0.2 0.0 1.0 3.0 7.1 11.1
100%EL k| EHE -1.8 | -1.5 0.0 3.0 9.0 15.0
200%A0 | PoRE -1.2 | -1.0 0.0 2.0 6.0 10.0
200%L4 F | EEHE -4.7 | -44 | -2.9 0.0 5.8 11.7
400%3R 7 LB ] -3.1 -2.9 | -2.0 0.0 3.9 7.8
400%L4 £ | EHHE -9.9 | -96 | -8.3 | -5.5 0.0 5.5
600%TE | (i -6.8 | -6.6 | -5.7 | -3.8 0.0 3.8
600%LL SEEME -14.6 | -14.3 | -13.0 |-10.4 | -5.2 0.0
o g -10.2 | -10.0 | -9.1 -7.3 | -3.6 0.0
C 10
10 5m 82 1
10 5m 83




Y5223 (%)

o)

|
&

=10

SEXE
2mRi Y=-14.7
2mLl_E~Bm#E  Y=4.9X-24.5
SmEA_E~16maiH  Y=0.84X-4.2
16mel k Y=9.24

m 4.33 m

20 X:BE (m)

G
Y=-12.99
Y=4.33X-21.65
Y=0.T1X-3.55
Y=7.81



w ZmARE | 3mRE | AmRH | SmR{E | 6mRE
FEATR (1.8m) (2m) (3m) (4m) (5m)
2m A R 0.0 1.2 7.0 12.8 18.6
g (il 0.0 1.0 6.0 11.1 16.1
ImAE A -1.1 0.0 5.7 11.5 17.2
g (i -1.0 0.0 5.0 10.0 14.9
dm i A -6.5 -5.4 0.0 5.4 10.9
o g (i -5.7 -4.7 0.0 4.7 9.5
Sm i Y HifL ~11.3 -10.3 -5.2 0.0 5.2
- fil ~10.0 -9.1 -4.5 0.0 4.5
6m A Tl -15.7 -14.7 -9.8 -4.9 0.0
e i -13.9 -13.0 -8.7 -4.3 0.0
8m A iii EEE -17.1 -16.1 -11.3 -6.5 -1.7
o il -15.1 -14.2 -9.9 -5.7 -1.4
10m i EHE -18.4 -17.5 -12.7 -8.0 -3.3
rhr o fiff -16.2 -15.4 -11.2 -7.0 -2.8
12m il EHE -19.7 -18.8 -14.1 -9.5 -4.8
th d fif ~17.4 -16.5 -12.4 -8.2 -4.1
16m i EHE -21.6 -20.7 -16.1 -11.6 -7.0
B il -19.0 -18.2 -14.1 -10.1 -6.0
16mLl L@ -22.8 -21.9 -17.4 -12.9 -8.5
- fil -20.1 -19.3 -15.3 -11.3 -7.2
w 8mEi | 10m=E§E | 12m3#iH | 16m#k{E | 16mLL E
FHEER (Tm) (9m) (11m) (14m) (16m)
2m i EE)E 20.6 22.6 24.6 27 .6 29.6
A [} 17.7 19.4 21.0 23.5 25.2
Im A M 19.2 21.2 23.1 26.1 28.1
g filf 16.6 18.2 19.8 22.3 23.9
AmiE Y 12.7 14.6 16.5 19.2 21.1
A [ 11.0 12.6 14.1 16.5 18.0
Sm i P E 6.9 8.7 10.5 13.1 14.9
o S 6.0 7.5 9.0 11.2 12.7
Bm s R 1.7 3.4 5.0 7.6 9.2
o 1.4 2.8 4.3 6.4 7.8
8m i R 0.0 1.7 3.3 5.8 7.4
aara] 0.0 1.4 2.8 4.9 6.3
10miE EEE -1.6 0.0 1.6 4.1 5.7
] -1.4 0.0 1.4 3.5 4.8
12mskid EEE -3.2 -1.6 0.0 2.4 4.0
o L -2.7 -1.4 0.0 2.0 3.4
16m3k i SEEME -5.5 -3.9 -2.3 0.0 1.6
Bk -4.7 -3.3 -2.0 0.0 1.3
16meL il -6.9 -5.4 -3.8 -1.5 0.0
o i -5.9 -4.6 -3.3 -1.3 0.0
10 800m 60
10 800m 56 4




YRR FEE (%)

FEE o
20 0m it Y=11.52 Y=7.44

200mEL_E~800maH Y=(-1.92/100)X+15.36 Y=(-1.24/100)X+9.92
B00mLLE~2km®BH  Y=(=0.44/100)X+3.52 Y=(-0.32/100)X+2.56
2kmEl Y=-5.28 Y=-3.84

e

XCEREEHE (m)

-0
4 800m
0.69 100m 0.33 100m
FOiEHYE | 200m3l | 400mERE | 600mE | 800m3Y | Lems | L2kmdil
F {100m) (200m) (400m) (G00m) (B00m)} {1.1km)
200mAE TEE 0.0 =1.7 =3.1 -8.5 -11.8 =13.0
H i 0.0 -1.1 -3.4 -5.7 -8.0 -8.9
A400mAs HEEI 1.7 0.0 3.4 -6.9 -10.3 -11.5
e i 1.2 0.0 -2.3 -1.6 -6.9 -7.8
BO0mAi EEHlE 5.3 .6 0.0 -3.6 ~7.1 =8
e e fif 1.5 2.4 0.0 =24 -4,7 -5.6
BODm A T E 9.2 7.4 3.7 0.0 -3.7 =5.0
efs e fif 6.0 4.8 2.4 0.0 -2.4 -3.4
1 kbl SR 13.4 11.5 7.7 3.8 0.0 -1.3
i3 e iy 5.7 7.4 5.0 2.5 0.0 -1.0
1. Zkm Azl FEEDH 15.0 13.0 9.1 5.2 1.3 0.0
b i 9.7 8.5 6.0 3.5 1.0 0.0
L dkmaAzi i 16.0 14.0 10.1 6.2 2.2 0.9
o il 1004 9,2 6.7 4.1 1.6 0.7
16kmaAzil = Ea il 17.0 15.1 11.1 7.1 1.2 1.8
e iy 11.2 9.9 7.4 4.8 2.3 1.3
L BkmaAzi R 18,1 16.1 12.1 d.1 4.1 2.7
1 e i 11.9 10.6 8.1 5.5 3.0 2.0
2kl PR 19.2 17.2 13.2 9.1 5.1 3.7
o o fifi 12.6 11.4 7.8 6.2 3.6 2.7
2kmid L= TEE 4 19.4 17.7 13.7 9.6 5.6 4.9
o1 g i 13.0 11.7 9.2 6.6 4.0 3.0




FOMHRE | LAkemaAsil | LekmaAsill | L8kmad | 2kmaEl [ 2kmbBl B
Eoh i) ] (1. 3km) (1.5km) {1.7km) {1.9%km) (2km)
200m Al M -11.8 -14.6 -15.3 -16,1 ~16.5
o fif -9.5 -10.0 -10.6 -11.2 -11.5
A00m A= SR -12.3 -13.1 -13.9 -14.7 -15.1
e s i -8.4 -9, -9.6 -10.2 ~10.5
BO0mA HEE i -9.2 ~10.0 -10.8 -11.6 -12.0
o e i -6.3 —6.0 -7.5 -§.1 -8.4
BOOmAik T i -5.8 -6.7 -7.5 -8.4 -5.8
i b i =4.0 -1.6 =5.2 -5.9 -6.2
hmskill = Ha i -2.2 -3.1 -4.0 -1.8 -5.3
o R -1.6 -2,2 -2.9 -3.5 -3.8
L 2kmaill PR -0.9 -1.8 -2.7 -3.6 ~4.0
o2 1 fj -0.6 -1.3 -1.9 -2.6 -2.9
Ladkm#ER R 0.0 -0.9 -1.8 -2.9 -3.1
tr g iy 0.0 =0.7 =1.3 =2.0 =23
L.BkmaAil TR 0.9 0.0 -0.9 -1.8 -2.3
o g fif 0.7 0.0 -0.7 -1.3 -1.6
1.BkmaAi TR it 1.8 0.9 0.0 -0.9 -1.4
H h iy 1.3 0.7 0.0 -0.7 ~1.0
2 kAl TEEI 2.8 1.8 0.9 0.0 -0.5
o g filf 2.0 1.3 0.7 0.0 -0.3
Zkmbl - TR 3.3 2.3 1.4 0.5 0.0
o s fii 2.3 1.7 1.0 0.3 0.0
10 35
YA 25 (%)

FEHE R
100m i Y=1.66 Y=1.36
100m EL E~Tkm=iili Y=(-0.83/100)X+2.49 Y=(-0.68/100)X+2.04
lkm&) k Y=-5.81 Y=-4.76

A i
Ol 100 300 X 12N A~ D FEEE (m)
_5 ...................... EFE‘{E

TFEE




ZTOMEERE [100m|200m| 400m [600m|[800m| lkm | lkm

AT | AT | R | RS | KW | R | Bk

FEERE (80m) [(100m)| (300m) |(500m) |(700m)|(900m)| (1km)
100mElE | FEHE 0.0 |[-0.2 | -1.8 |-34 |-51 |-6.7 | -7.5
e L {ff 0.0 |-0.1 | -15 |-2.8 |-42 |-55 | -6.2
100mEl E | EHE | 0.2 | 0.0 -16 |-33 |-49 |-6.5 | -7.3
200maq | PfE | 0.1 0.0 | -1.3 |-2.7 |-4.0 |-5.4 | -6.0
200mel k| EEYME 1.8 1.7 0.0 -1.7 |-3.3 |-5.0 | -5.8
400mATw | PRE 1.5 1.4 0.0 |-14 |-27 |-4.1 | -4.8
400mEL k| FEEE 3.5 | 3.4 1.7 ] 0.0 |-1.7 |-3.4 | -4.2
600mRE | ULl 2.9 | 2.8 1.4 0.0 |-1.4 |-2.8 | -3.4
600mEL L | TR 5.3 | 5.2 3.4 1.7 | 0.0 |-1.7 | -2.6
800mim | P 43 | 4.2 2.8 1.4 | 0.0 |-14 | -2.1
800mLL E |  ER{H 7.2 | 7.0 5.2 3.5 1.7 | 0.0 | -0.9
1 km i rp gL {if 58 | 5.7 4.3 2.8 1.4 | 0.0 | -0.7
IkmbL k= )l 8.1 7.9 6.2 44 | 26 | 09 0.0
o g2 fjf 6.6 | 6.4 5.0 3.6 | 2.1 |07 0.0

10 15
Y:A% 38 (%)
i H e fiff
100m #j Y=3.69 Y=3.33

100m B _E ~3km#:# Y=(-0.41/100)X+4.1 Y=(-0.37/100)X+3.7
SkmEl b Y=-8.2 ¥=-7.4




FHEER

FOMERE 1100m|500m| lkm |1.5km| 2km 3km 3km
Sl | RiE | RIS | R | R | Rl | Uk
(80m) | (300m)| (800m) | (1km) | (1.5km) | (2.5km) | (3km)

100m =i SEE{E 0.0 -0.9 -3.6 -3.6 -5.6 -06 |-11.5

il | 0.0 |-08 | -3.2 |-33 | -5.1 | -8.7 |-10.4

100mEL = Do T 0.9 0.0 -2.8 |-2.8 | -4.8 -8.8 | -10.8
500m =i o g iy 0.8 0.0 -2.5 |-2.5 | -4.3 -7.9 -9.7

500mEl k| FEE{E 3.7 2.8 0.0 [-0.1 | -2.1 -6.2 -8.3
1kmz i ch g {ii 3.3 2.5 0.0 -0.1 -1.9 -5.6 -7.5

1kmbi _E I 3.8 2.9 0.0 0.0 -2.1 -6.2 -8.2
1.5km =i o o 3.4 2.6 0.1 0.0 -1.8 -5.6 -7.4

1.5kmEL B | FEX{E 5.9 5.0 2.1 2.1 0.0 -4.2 -6.3
2km =i oh - {ifi 5.4 4.5 2.0 1.9 0.0 -3.8 -5.7

2kmEL E SR 10.6 | 9.6 6.6 6.6 4.4 0.0 -2.2
Ikmi P g 9.5 | 8.6 6.0 5.9 3.9 0.0 -2.0

JkmEd SEHME 13.0 | 12.1 8.9 8.9 6.7 2.2 0.0

o g {0 11.7 | 10.8 8.1 8.0 6.0 2.0 0.0

10

10 35
Y EE=E(%)
Tl
Hr hfii
......... Toon  200%  300%  400% 5005  600% xR
EE g
50%<iid Y=-1.58 Y=-1

50%LL E~600%K# Y=(3.15/1000X-3.15 Y=(2.00/100)X-2

600%LA L Y=15.75 Y=10



FOMEE | 50% 100% | 200% | 400% | 600% | 600%

Rl | R | KW | KRB | RW | LLE

FEEHKE (40%) | (50%) | (100%) | (200%) | (400%) | (600%)
50%F T FH{E 0.0 0.3 1.9 | 5.1 11.6 | 18.0
o g1 (& 0.0 0.2 1.2 3.2 7.3 11.3
50%LL T E -0.3 0.0 1.6 4.8 11.2 | 17.6
100% 1 g {E -0.2 0.0 1.0 3.0 7.1 11.1
10020 E | FEHE -1.9 | -1.6 0.0 3.2 9.5 15.8
20090 | PR{E -1.2 | -1.0 0.0 2.0 6.0 10.0
200%LL E | EHE -4.9 | -46 | -3.1 0.0 6.1 12.2
400%K0% | PRIE -3.1 | -2.9 | -2.0 0.0 3.9 7.8
400%L0 F | EHE -10.4 |-10.1 | -86 | -5.8 0.0 5.8
600%RNE | Pd{E 6.8 | 6.6 | -5.7 | -3.8 0.0 3.8
600%LA E |  FEHE | -15.2 | -15.0 |-13.6 |-10.9 | -5.4 0.0
oh Sl -10.2 | -10.0 | -9.1 | -7.3 | -3.6 0.0
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8 1 1 km?
#1 Tk 9 ERFREARM ) % 2 E#
F 2 0 X [ 4 s iR A T {5 (@ IR s (i s ¥
3 7 e X 8 A
FREEHE 8% A




2
1
T O HT RS 2m 4 m 6m BEm Hm
EEHER il #il il ] Ll
2 mAil 0 +1 + 3 +5 +6
4 ma#il -1 0 + 2 + 4 + 5
B m A -3 — 2 0 + 2 + 3
B maiy —5 — 4 - 0 + 1
B8milk — 6 -5 —3 -1 0
2 8 12 #EE(m)
X y
2m y 5 2m 8m y 5 3X 25 3
8m 12m y 1 2X 1 12m y 7
6m 9m

100 5 3 6 m 25 3 101.67
100 1 2 9 m 1 105.5
105.5 101.67 1 3.77 4




12

— N

12

o~

— N

1

5m

12




FLERT | WETEGE | LB

U

ER

030 ot

AT

ot

1 2
B

fhEnF | TETANE | Rl

]




ZOMER | S RS
B 31

HEHY
sEERL

Z O | S ke
= Y AL

HEHY
L

1 2

Hhaﬁ@ggTi
£ AT

GOk
Rl
HaE e L




W
T

MR8

R UE ST

Haa e L

1 2

FT——
FOMmERE | Bk Tk | @YY

EEEHR (3% E) B i

EVEAP G 0

fT&iEEn

im0 T R

1 2

FT——
FOMEE | B 1TEIE | BV

EEEHR (3 %] E) B i

R AP 0

fT&iEEn

im0 T R




JR

[EEN

JR




800m




300m

[EEN




1000m




Z Db
EEEHR

A

£ Dfth ik
EEEHE

A




1 2

F O FH %
3BTRS
H

= DT =) p3
3= AR

il

fii2

F O " %
3= R
A




£ Db
EEEHR

il




[EEN

[EEN

300

100

[EEN

x 4 10

x 6 10




= EHT IS
5 1 Fl{E R
5 2 Ml B R i
{3 & ik
3T [l T e el
E Sk
i T3 sk
T %= ik
T3 W A s
R Bl
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T O VHE | 270 | fEFE | GERE | AREE | I | ¥ | Iy | W
FEE | £8 [ 3 i A
E IR MR | BERY | AhEk | i | oAhis 5 HhiE | [E%:
55 1 Tl (kB T A e
5 2 Tl {E FE WA il
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o7 | EH pofE | fME | SR | RS
s B 7 244 9.9 9.0 1 49 4.9
& B R 2= O08 (%) 244 22 .4 20.0 1 80 13.7
I8k /]38 BEAE B (m) 221 2.3 2.0 0.2 10 1.5
fie i HEE B (m) 221 17.5 16.0 5 90 9.8
filt Bl ([=q8) 152 5.2 4.0 0 26.4 4.9
R (BB 152 3.1 2.0 0 19.6 2.7
Fili Bl (FL58) 152 -3.5 -3.0 -32.3 0 3.5
ShEE (A2L) 183 -2.9 -2.0 -10 -1 1.8
Hr3a (7 1)) 196 2.9 2.0 0.5 11.1 1.8
Hrai (AR 196 1.8 1.1 0 8 1.4
M (fTIED) 200 -5.3 -5.0 -17 0 2.9
TR () 118 -4.7 -4.4 -14.81 0 3.1
SRERRE: 7oL 192 11.9 10.0 1 86 9.3
ERERME: B2 000E (%) 192 23.3 15.6 0.8 219 27.6
e/ NER BERE (m) 164 251.4 100.0 10 10000 §03.0
Jer A ER BEEE (m) 164 2,630.4 | 2,000.0 31 33000| 3,345.1
PR T 90 6.3 5.0 1 24 4.1
PRAPE R EEORR (%) 90 5.7 4.0 1 21 4.4
o /R AP EERE (m) 76 158.0 100.0 20 500 116.0
I oA AP REEE (m) 76/ 835.5 500.0 50) 4500 763.4
e pr 7w 70 11.3 6.5 2 60 11.2
T 2 O0E (%) 70 10.5 5.3 1 48 10.6
gz /)5 T BE B (m) 50 300.8 200.0 10 1000 223.3
for KA ETEREE (m) 59| 2,453.1 | 2,000.0 2000  10000| 1,822.2
FAGE (F21L) 39 -3.2 -2.0 -30 -1 4.6
23T AGE (F2L) 122 -2.5 -2.0 -10 -1 1.3
#ai A (L) 56 -2.0 -2.0) -8 -0.5 1.2
HGRE: 70 118 6.0 5.0 2 42 4.5
EREE R EONE (%) 118 14.3 10.0 1 100 13.5
T NEHE (%) 100 132.5 100.0 50 300 69.3
e KREE (%) 100|  523.0 500.0 100 1000 146.6
A 3 Hi ek (1 R 129 -5.5 -5.0 -21.6 0 4.4
F 3 sk (24 7) 133 -4.3 -4.0 -18 0 3.8
i e () 135 -3.0 -3.0 -13 0 2.6
JE 38 Hi I (P 3) 131 3.4 2.5 0 24.8 3.8
FH 3afs gk (38 1) 129 -3.2 -2.6 -15.25 2 3.2
A HiEE (T 3%) 113 -6.9 -6.0 -41 0 6.2
F s i (T8) 91|  -10.1 -9.0 -41 0 8.6
Ji s Hise (AR X)) 87 -14.7 -13.5 -49 0 10.3




SQRT{S Xi mx 2 n 1 }
Xi mx X

o] TR e | deesi | ReRAE | FRHMEE
Wi B : 7 v ¥ 68 8.8 9.0 2 22 3.7
i B RS 2008 (%) 68 17.9 14.0 2 56.4 12.4
Jee /)l iR B (m) 59 2.4 2.0 0.5 ] 1.7
der F23i R AR B (m) 59 13.5 12.0 A 40 5.6
Rl (Eam) 42 5.1 4.0 0 16 2.9
iR (Hhai) 42 2.6 2.0 0 9 1.9
iR (Fa8) 42 -3.8 -3.0 -32.3 0 5.2
e (L) 54 -2.6 -2.0 -8 -1 1.4
Ao (PR 55 2.6 2.0 0.5 7.2 1.4
Haad (A 1R) 55 1.7 1.0 0 6 1.2
MR (4T AED) 55 -5.4 -5.0 -15.43 0 3.4
MR ([ ) 29 -5.2 -5.0 -10 -1 3.0
BREEHE: 7. 08 50 10.1 8.0 2 60 9.5
ERERHEE . #5220l (%) 50 13.1 10.0 1 52.67 10.0
Jiz/)NER BB R (m) 43 467.6 100.0 10] 10000 1,521.7
Jor AR BEEE (m) 43 2.603.0 | 1,600.0 311 20000 3,127.6
PR G 29 7.3 5.0 2 24 5.5
PR FRIEONE (%) 29 6.2 5.0 2 21 4.7
Jeg S AVERERE (m) 24 167.9 100.0 30 500 117.8
Itg A2 S ALE FERE (m) 24 1,108.3 500.0 200 4500| 1,095.8
T pr 7 26 12.2 7.5 2 60 13.2
T = 0dE (%) 26 7.2 5.3 1 16 4.5
Jeg M FITEERE (m) 22 275.0 150.0 10 1000 211.9
Jor A A% BT EEEE (m) 22 2.816.8 | 2,000.0 200 10000| 2,448.5
b7k (22L) 15 -2.8 -3.0 -6 -1 1.2
A3 T AGHE (ArL) 28 -2.4 -2.0 -6 -1 1.0
A deL) G -2.0 -2.0 -4 -1 0.9
EHIR. - 3 13 4.0 4.0 2 G 1.8
FEREER  BE 2 0O0E (%) 13 13.4 5.0 2 100 26.4
I /TSR (%) 7 145.7 100.0 60 300 90.0
e RS (%) 7 400.0 400.0 100 600 152.8
F s (1FEH) 25 -4.8 -3.0 -21.3 0 5.5
F i i3 (243 5F) 27 -3.9 -2.0 -16.18 0 4.4
B s (12 F8) 28 -3.1 -2.5 -12.28 0 3.1
B i HbEE (R 32) 26 3.0 1.2 0 22 5.5
Fi s il (46 1) 26 -2.4 ~2.4 -8.68 2 2.8
Fad ik (T 3) 18 -7.8 -4.5 -41 0 10.0
A ihis (TR 14 -8.3 -3.0 -41 0 11.3
i s G IX) 19 -12.7 -13.0 -31 0 10.4
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o ¥ UL | M | A K | FRAE(EE
18 R : Ty 80 10.1 10.0 1 33 4.6
15 B : 48 EOE (%) 80 22.6 20.4 3 68 13.2
for /il #8148 £ (m) 75 2.0 2.0 0.2 6 1.0
% AR 8 (m) 75 16.0 15.0 6 40 6.1
il 1] (=) 54 5.2 4.0 0 26.4 4.7
Fili Bl (E3E) 54 3.1 2.8 0 19.6 3.1
FlR) (FLaE) 54 -3.1 -3.0 -11.1 0 2.6
ShdE (2L) 65 -2.7 -2.4 -8 -1 1.6
() 66 2.5 2.0 0.5 8 1.5
HraE (i) 66 1.8 1.2 0 8 1.4
HFHE (171ED) 67 -5.0 -5.0 -10.09 -0.5 2.5
Witk () 45 -4.5 -4.0 -14.81 0 3.0
BREEEE: 7 67 13.0 11.0 1 86 11.1
EREEEE : #5722 0008 (%) 67 21.2 16.0 1.5 173 24.2
Jiz /N ER BEHE (m) 61 166.2 100.0 20 1000 177.4
Tor K ER BEHE (m) 61 2,243.1 | 1,800.0 300 9000| 1,594.5
SRAE TN 36 6.1 5.5 2 11 3.1
SRANE B DR (%) 36 4.7 3.5 1 15 3.4
T o) A AP FREE (m) 31 148.7 100.0 50 500 109.9
o R AR RRHE (m) 31 769.4 700.0 200 3000 540.8
T pr: 7w 0¥ 27 13.3 9.0 2 31 11.3
FEAT BB EOE (%) 27 13.4 6.0 2 48 12.9
T /R FTRERE (m) 22 259.1 200.0 50 500 161.6
foz % 1% P EERE (m) 22 2,272.7 |2,000.0 500 5000| 1,210.3
bakaE (FzL) 17 -2.3 -2.0 -5 -1 1.1
Zedt T AkGE (AeL) 49 -2.5 -2.0 -6.31 -1 1.2
A A (L) 21 -2.1 -2.0 -8 -1 1.6
BHE. o0 33 5.8 5.0 2 1 2.8
IR B IEOE (%) 33 11.6 7.0 2 42 10.3
f/NEFHEE (%) 29 105.5 100.0 50 200 54.4
e KA (%) 29 470.7 400.0 300 1000 194.8
JAag s (1{E ) 49 -5.9 -5.0 -21.6 0 4.5
JRaEHE (2{EH) 51 -4.7 -4.0 -18 0 4.1
FA 3 s (1 FE ) 53 -3.2 -3.0 -11 0 2.7
FagHig (%) 50 3.2 2.5 0 11.8 2.7
JH i i (3 1) 49 -3.5 -2.5 -15.25 0 3.6
FaRHUE (T %) 44 6.6 -6.5 -19 0 5.4
FHik S (TR 36 8.7 -9.0 -22 0 5.5
JA 3 Hb s (R ) 26 -12.2 -13.3 -24 0 6.8
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PN Ll | dge M | BRI | AREER
i BT 96 10.5 10.0 1 49 5.9
i L R 22008 (%) 96 25.3 25.0 1 80 14.3
Joir /)38 $EFE 1 (m) 87 2.4 2.0 0.8 10 1.6
fre FOE BER L (m) 87 21.4 20.0 8 90 12.8
FlR (EHi) 56 5.3 5.0 0 15.11 3.9
A (Faa) 56 3.5 2.1 0 11 2.9
iR (BLE) 56 -3.5 -2.8 -12 0 2.7
i (el) 64 -3.3 -3.0 -10 -1 2.0
AR (7 1)) 75 3.4 3.0 0.5 11.1 2.2
A3 () 75 2.0 1.5 0 5.92 1.5
LM (77 1R D) 78 -5.4 -5.0 -17 -1 2.7
M (R EE) 44 -1.6 -3.5 -12 0 3.3
EREEME: 78 75 12.1 10.0 3 31 7.0
BREEME : B 220008 (%) 75 32.0 21.3 0.8 219 35.0
Joe /) ER BEBE (m) 60 184.2 100.0 20 1200 234.1
e FERBREE (m) 60 3,043.7 | 2,000.0 7000 33000] 4,586.4
RN T 25 5.5 5.0 1 16 3.3
28 2R BESEOONE (%) 25 6.5 4.1 1 17 5.1
frr rfr s LA BEHE (m) 21 160.4 100.0 20 5000  126.9
for RS APERERE (m) 21 621.4 400.0 50 2000 470.8
i 7o 17 6.8 5.0 2 22 6.0
5 Al ¢ B S OME (%) 17 10.9 5.2 2 45.8 12.1
for /5 T BE B (m) 15 400.0 400.0 100 1000|  255.7
Jor K A% P EERE (m) 15 2.140.0 | 2,000.0 200 6000 1,472.0
bakGE (L) 7 -6.4 -2.0 -30 -1 10.6
3T AGE (42L) 15 -2.5 -2.0 -10 -1 1.7
AL 26 -1.9 -2.0 -5 -0.5 1.0
IR T8 72 6.4 5.0 2 42 5.3
FHIEE O (%) 72 15.6 11.0 ] 50 11.4
e NEREE (%) 64 143.3 155.0 50 300 70.6
Jor FOETEE (%) 64 560.2 600.0 400 800 101.6
A 3 i 38 (1 () 55 -5.6 -6.0 - 14 0 3.7
R g Hi s (23 9E) 55 -4.2 -3.8 -14 0 3.1
FA 3 i3 () 54 -2.9 -2.7 -13 0 2.3
JH 3 Hi ik (P 3E) 55 2.7 3.0 0 24.8 3.8
FH 2 Mgl (7 1) 54 -3.2 -2.8 -15 1 3.0
F i de (L 35) 51 -6.9 -6.6 -20) 0 5.1
3k i Im (T2 HE) 41 -11.9 -10.0 -39.9 0 9.6
A o i IEE (R X)) 42 -17.2 -15.0 -49 0 11.6




Yo7l FE Pl | Rl | R | SRR
=RV E 262 10.2 9.0 1 49 4.9
B B AR EONE (%) 262 21.5 20.0 I 57 11.7
Fe sl FEEE B (m) 234 1.8 2.0 0.1 6 0.8
It Kol #E6E B (m) 234 13.9 12.0 5 40 5.3
Fili %) ([E35) 165 4.6 4.0 0 26.4 4.2
i 51 (i) 165 2.8 2.0 0 19.6 2.8
iR (i) 165 -3.4 -2.7 -32.3 0 3.9
Hh3E (del) 230 -2.7 -2.0 -10 -0.5 1.5
HraE (P 187 2.4 2.0 0.5 22 2.1
I (A D 187 1.6 1.0 0 22 1.9
MEFEE (FT1ED) 232 -5.1 -5.0 ~15 -0.5 2.7
ML ([ E) 144 -4.2 -4.0 -15 0 2.8
EREERE : 703k 209 13.3 10.0 2 252 19.0
EREE P : R ORE (%) 209 17.3 13.0 1 173 18.1
Jt /NER BEHHE (m) 178 275.2 100.0 8 10000 778.5
Jor X ERBEHE (m) 178 | 3,298.9 | 2,000.0 300 33000| 3,853.6
INARE G E 131 6.4 5.0 2 24 3.9
SRANE  FEFE DR (%) 131 5.6 4.6 0.3 48 1.8
fig 7]/ S AL BERE (m) 110 171.0 100.0 20 500 106.0
Jig RS A PERE (m) 110 942.2 800.0 200 4500  709.0
T 95 11.7 7.0 2 68 12.1
AT B 22 DRE (%) 95 8.7 5.8 1 52.4 8.0
dt /i T EERE (m) 77 328.6 250.0 100 1500| 249.3
dog KA EERE (m) 77 | 3,035.1 | 2,000.0 200 30000| 3,613.2
Ak (L) 64 -3.1 -2.0 -20 -1 2.8
038 T AGE (A2L) 179 -2.6 -2.0 -11.27 -0.95 1.6
#ai A L) 93 -1.7 -2.0 -7 -0.5 0.9
R T2 81 6.1 5.0 2 29 3.4
B B IEOE (%) 81 11.7 8.0 1 82 14.9
Jie /N EEERER (%) 69 93.8 80.0 50 300 54.7
Jor KA (%) 69 481.2 400.0 100 1000 177.4
P HE (1{E ) 139 -2.3 -2.0 -15 0 2.7
Fi s il (24 ) 140 ~-1.1 -1.0 -12.69 0 1.6
PR (=) 139 3.3 2.0 0 50 4.9
FH 3 Hi ek (s 3E) 132 6.1 5.0 0 50 6.1
Akl (1) 137 -1.0 0.0 -29 9.1 3.7
P (T 3) 120 -4.6 -4.0 -39 0 5.4
P 3 el (T H) 95 -8.7 -7.0 -39 0 7.6
FA i s (I XD G4 -14.4 -13.0 -60 0 9.6




7| R il | sl | il | R
i 8 7 84 9.5 9.0 5 22 3.5
B8 B IR EOE (%) 84 20.4 18.0 2 56.4 12.5
1o 08 #EEE B (m) 73 1.7 2.0 0.5 4 0.8
Itk F3E BEAE 2 (m) 73 12.9 12.0 5 24 4.4
fill 5 ([E5) 50 5.0 4.0 0 19 4.3
R (35 ) 50 2.8 2.0 0 19 3.0
R (L) 50 -3.9 -3.0 -32.3 0 1.9
Mk (L) 76 -2.5 -2.0 -8 -0.5 1.3
=38 () a9 2.5 2.0 (.5 22 2.8
Al () 59 1.8 1.0 0 22 2.8
HEE (F71ED) 73 -5.5 -5.0 -13 -1 3.0
L (R 44 -4.7 -5.0 -10 0 2.8
ERPERE: 7% 64 11.3 10.0 3 60 8.9
ERBEHE : #8208 (%) 64 14.1 9.9 1 64 12.3
I /IR BEEE (m) 54 436.1 150.0 & 10000 1,367.3
Ji FBR BE B (m) 54 3,038.9 | 2,000.0 800  20000| 2,888.1
SR T 11 7.3 6.0 2 24 5.1
AP FEFEONE (%) 41 6.1 5.0 2 18 1.1
e o] AL EERE (m) 35 158.0 100.0 30 500 98.1
o KA AERREE (m) 35 1,084.3 1,000.0 200 4500 912.1
D 41 13.2 7.0 R 68 14.6
2P B 22 00E (%) 41 7.9 5.8 1 29 6.0
o % P BEEE (m) 34 322.1 225.0 100 1500 289.2
Jee A= AT R (m) 34 3,0176 | 2,500.0 1000 10000| 1,924.4
A (ArL) 25 -3.0 -3.0 -8 -1 1.4
AT AGH (F2L) 44 -3.1 -2.0 -11 -1 2.3
Hdi A (#L) 19 -1.5 -1.0 -4 -1 0.8
BT 14 1.6 1.0 2 12 2.6
R R EORE (%) 14 5.8 4.5 2 16 4.5
i /NERE (%) 9 101.0 99.0 50 200 60.3
I AT (%) 9 411.1 400.0 100 1000 247.2
FA e (1{EH) 28 -2.7 -1.5 -15 0 3.9
Bl s (2{E 7)) 29 -0.9 0.0 -5 0 1.2
B i s (12 /8 29 4.9 3.0 0 50 9.3
P Hb I (%) 26 6.9 5.0 0 50 9.7
FA g (HE ) 26 -0.7 0.0 -29 8.2 6.2
FA i H s (T3 21 -5.5 -1.0 -39 0 10.1
A i it ( T RE) 14 -9.5 -3.5 -39 0 12.5
P i Hb s (R XD 21 -15.7 -15.0 -60 0 11.5
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¥o7nE| T el | A | BRI | AR E
i 5 7 82 10.1 9.0 ] 35 5.0
ig B : #E =018 (%) 82 20.8 19.4 2 50 11.0
dee /) E BEE & (m) 76 1.9 2.0 0.1 § 1.0
Jrr K3 #E0E B (m) 76 14.1 12.0 6 30 1.9
Fili o) (EaE) 53 5.0 1.0 0 26,4 1.8
il (HhE) 53 3.1 3.0 0 19.6 3.1
i UREFSTEY 53 -3.3 -2.0 -30 0 4.3
£i%E (ZrL) 70 -2.6 -2.0 -8 -1 1.4
Bl (i) 61 2.3 2.0 0.5 11 1.8
e (A i) 61 1.5 1.0 0 7 1.2
HELE (1T1ED) 71 -4.9 -5.0 -10 -0.5 2.4
Mg (FERE) 50 -4.2 -4.0 -15 0 2.8
SRERHE: 70 69 16.3 11.0 2 252 30.7
UREEHRE . 5 =E008E (%) 69 17.6 13.6 2.5 173 21.8
Jc/NEREEEE (m) 62 178.5 100.0 50 1000 167.6
i K ERSEHE (m) 62 |2,665.3 | 2,000.0 600 9000| 1,723.0
PRALEE TR 44 6.6 6.0 2 13 3.4
AN FEEONE (%) 44 5.6 4.0 1 38 6.1
Jog /] S APE BEEE (m) 38 142.4 100.0 50 400 85.1
oA BREE (m) 38 818.4 700.0 200 3000 500.6
e 7w ¥k 34 12.2 7.0 2 31 10.4
T B = O1E (%) 34 8.5 5.0 2 27.2 7.3
doe /% BT RERYE (m) 28 287.5 225.0) 100 500 168.7
o e AT BEEHE (m) 28 |2,164.3 | 2,000.0 200 5000( 1,203.5
kB (Fel) 22 -2.5 -2.5 -5 -1 1.1
Aedb Tkl (AeL) 57 -2.6 -2.0 -11.27 -1 1.5
# A (L) 27 -1.7 -2.0 -3.9 -1 0.8
BiE. oo 29 6.1 5.0 3 11 2.9
TR  FEEODIE (%) 29 13.0 7.0 1 80 17.6
/N EHEE (%) 25 84.4 80.0 50 200 42.3
T TN (%) 25 166.0 400.0 200 1000 216.4
PR e (1{ETE) 50 -2.0 -2.0 -12.1 0 2.3
JA s Hin e (2 2E) 50 -0.9 -1.0 -4 0 1.0
FA s () 50 2.9 2.7 0 12 2.5
FimHhiel (FHE) 47 5.3 5.0 0 13 3.0
b (G T) 50 -0.9 -0.5 -14.4 9.1 3.2
e (T %) 42 -4.3 -4.0 -16 0 4.1
FA & el (T ) 35 -6.5 -6.0 -19 0 4.8
FA & HiE G 27 -11.7 -12.0 -22 0 6.0
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7' | T Rl | de/ME | Rk | RHEREE
BT 96 10.8 10.0 1 49 5.7
B R EOE (%) 96 23.0 22.0 1 57 11.6
doe /aE B50E B (m) 85 1.7 2.0 0.4 4 0.7
fok ook BE0E B (m) 85 14.7 12.0 6 40 6.2
AR ([E50) 62 4.0 4.0 0 15 3.4
FiR () 62 2.5 2.0 0 9.3 2.3
BRI (Rlai) 62 -3.0 -2.4 -13 0 2.4
LEAN®) 841 -2.9 -2.0 -10 -1 1.7
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